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December — Examination 2023

M.Sc. (Previous) Examination

CHEMISTRY
(Organic Chemistry) 1. (1) Write down the Huckel’s rule.
Paper : MSCCH-02 gha frm =1 fafen)
Time : 3 Hours | [ Maximum Marks : 80 (i) Why !2C does not exhibit NMR (Nuclear

Note .— The question paper is divided into three Sections Magnetic Resonance) Spectroscopy ?

A, B and C. Write answers as per the given 12C q.w.31R. (Y STHAR Jraehid) Tarient
instructions. i T8 T & 2
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(111) What are Carbenes ? Give example.

Section—-A 8x2=16 T 2 Sarer St
(Very Short Answer Type Questions) (iv) Ilustrate the following with suitable
Note .— Answer all questions. As per the nature of the examples :

uestion delimit your answer in one word, one ) .
d y ’ (a) Fisher Projection Formula

sentence or maximum up to 30 words. Each

question carries 2 marks. (b) Newman’s Projection Formula
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(v) What is Nitrene ? Write its properties.

M F 7 ? 3EH 0 fAfem
(vi) Explain TIPSO attack.

IPSO &HY sl THIATET |

Section-B 4x8=32
(Short Answer Type Questions)
Note .— Answer any four questions. Each answer should not

exceed 200 words. Each question carries

8 marks.
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(vii) Give the product of the following reaction :

|| || +CHCI; + KOH — A (Product)
N

|
H
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2. Write short notes on the following :

(@) SN! mechanism

| 1] +CHCI; + KOH — A (Product) (b) Benzyne mechanism
N

|
H

(viii) Write down the Reformatsky reaction.
Rrdewrt stfafsran w1 fafem |
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. Describe conformation of cyclohexane.
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. Explain the basic principles of Mass Spectroscopy.
TIE HeRImia & fagmi (qa1) @ 9HEmsT |

. Discuss optical activity in molecules having no
chiral carbon.
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. Explain the various electronic transition in UV

spectroscopy.

UV wxfafa | fafis somaeifer ariee & 99y

. Exdplain Jablonski diagram, showing different

ways of energy loss.
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8. Explain the following, why :

(a) Electrophilic substitution in pyrrole take place
at o-position ?

(b) The aromatic characteristic is more in
Thiophene ?

fr=fafead 1 99y, F :
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9. What are Hetrocyclic Compounds ? Explain their

nomenclature and classification.
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Section-C 2x16=32
(Long Answer Type Questions)

Note .— Answer any two questions. You have to delimit
your each answer maximum up to 500 words.

Each question carries 16 marks.
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Qus—yH 12. Discuss the structure stability and reactions of

@ T ue) carbanions.
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13. Explain the optical isomerism in molecules

16 3i® 1 | without chiral centres.

10. Explain  conformational analysis of acylic

foRiel & fed STufeti § YehifTeh wHadadl HHesT |
molecules.
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11. Explain the following :

(@) Vibrational spectroscopy

(b) Axial chirality

(c) Wilkinsons catalyst
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